

DISTRICT MUNICIPAL CORPORATION (WEST) BALDIA ZONE, KARACHI.

No.DMC/(W)/XEN(B&R)/B.Z/ 159 /2015

Dated: 19 /3 ./2015

To.

The Deputy Director (ENF-1)
Sindh Public Procurement Regulatory Authority
Government of Sindh
Karachi.

Subject: BID EVAULATION REPORT THROUGH SPPRA WEB SITE S.NO.

0476

Enclosed please find herewith Bid Evaluation reports of the works of Above mentioned NIT.

Submitted for information please.

EXECUTIVE ENGINER DMC (West) Baldia Zone.



DISTRICT MUNICIPAL CORPORATION (WEST) BALDIA ZONE, KARACHI.

No.DMC/(W)/XEN(B&R)/B.Z// 59 /2015

Dated: 18 / 3 /2015

To.

The Deputy Director (ENF-1)
Sindh Public Procurement Regulatory Authority
Government of Sindh
Karachi.

Subject: BID EVAULATION REPORT THROUGH SPPRA WEB SITE S.NO.

Enclosed please find herewith Bid Evaluation reports of the works of Above mentioned NIT.

Submitted for information please.

ASST/ EXECUTIVE ENGINER DMC (West) Baldia Zone.

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,99,920/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,998/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- Supply and Laying Dacca grass and supply cow duck Manure at Akber play Ground in UC No-08, D.M.C (West). Baldia Zone, (Re-Invite)

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Supply and Laying Dacca Grass.	58,083	6.00	P/S ft	3,48,498/-
02	Providing and Supply cow duck Manure.	2,777	298.12	P/cavd leal	8,27,879/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E. (VARR)

D.T.O (PARK)

I/We hereby quoted rate@

% above/below the schedule of rates.

Contractor's Signature_

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,97,285/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,946/ PANELTY PER DAY 1500/ 1500/

SUBJECT:- Providing and Supply sweet earth at Akber Play Ground in UC No-08, D.M.C (West). Baldia Zone, (Re-Invite)

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Supply and Spreading approval garden soil (Sweet Earth) free from salt pebbles and grass roots etc. Approval quarry required grade and slope and disposal of rubbish with in 3 chain as directed by Engineer Incharge etc. Complete in all respect.	58083	2020	%Cft	11,73,277/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E (PARK)

% above/below the schedule of rates.

Contractor's Signature_

Address

6)\ D.J.O (PARK)

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 5,24,188/-TIME LIMIT 01 Month 1500/-SECURITY DEPOSIT 10,484/-TENDER COST 1500/-PANELTY PER DAY

SUBJECT:- P/L 2" thickness C.C Flooring at house No.1728/67 to House No.1728/81, Arab Muhallah in UC No.08, DMC (West) Baldia Zone.

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Dismantling cement concrete plain 1:4:8	3680-cft	1663.75	%cft	61226/-
02	P/L cement concrete brick or stone ballast 1 1/2" to 2" gauge 1:4:8	2429-cft	9416.28	%cft	228721/-
03	P/L 2" thick topping cement concrete 1:2:4 i/c surface finishing and dividing into panel etc. Complete	7360-cft	3275.50	%cft	241077/-
04	Carmeuse of 100cft tons of all kind material like cole brick i/c loading unloading 10 miles.	3680-cft	1065.04	%cft	39193/-
05	Manufacturing and supply of R.C.C ring slab of 21" dia inside 36" dia out side, 7.5" width and 6" think i/c 3/8" dia for steel bars two concentric rings with 3/8" dia 8 nos cross linked bars welded and two sunk type hooks, casted in (1:1/2:3) cons with embedded 15Kg C.I Frame in perfect position i/c transportation charges for as average lead of 20KM per trip from casting yard to town office (A minimum of 25 slabs per trip will be transported.)	10-Nos	1906.60	Each	19066/-
06	Manufacturing and supplying R.C.C main hole covers cast in situ 1:2:4 C.C 3" inch deep in center reinforced with 3/8" dia M.S Bars welded on M.S sheet i/c curing transportation 21" dia. 24" dia.	30-Nos	913.63	Each	27409/-

Nomenclature, quantities and rates Etc checked and found correct.

I/We hereby quoted rate@

A.E (B&R)

% above/below the schedule of rates.

Contractor's Signature

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 5,11,500/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 10,230/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- P/L 12" DIA R.C.C PIPE DRAIN AT N-4 BUS STOP TO QUETTA HOTEL CHRISTIAN GRAQVE YARD RANA GROUND STADIUM ROAD IN UC 5 DMC (WEST) BALDIA ZONE

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
1.	Excavation for pipe line in trenches, and pits in all kind of soil of Murum shape leveling of beds of trenches to correct level and grade, surplus earth within a one chain as directed by Engineers Incharge	6750/- CFT	4650.00	%cft	31388/-
2.	Excavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leveling of beds of trenches to correct level and grade, cutting joint holes and disposal of surplus earth with in a one chain as directed by Engineer Incharge. Providing fence guards, lights, flags and temporary crossing for non-vehicular traffic where ever required lift up to 5 ft. (1.52m) and lead up tone chain (30.5m).	900/- CFT	24150.00	%cft	21735/-
3.	P/L reinforced cement concrete pipes with rubber rings i/c cartage, loading unloading at site of work fixing in trenches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate, M/S Balochistan R.C.C Pipe Co. M/S Pakistan construction (Pvt.) Ltd. M/S Kamal R.C.C Pipe Co.	500- RFT	367.00	P/rft	183500/-
4.	12" dia pipe, Construction of 4" dia manhole inside complete with 21"dia c c 1:2:4 pre cast C.1 frame 12kg i/c the cost of M.S bars reinforcement and two handles 5" clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9" thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in all kind of soil back filling and disposal of surplus stuff (KW&SB) approved rate.	21-Nos	9307.86	Each	195465/-
5.	Extra depth beyond 5" ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)10.5ñ	1609.15	Pft	(-)16896/-
6.	Refilling excavation stuff & surplus earth etc complete.	6885-cft	2760.00	%Cft	19003/-
7.	Carriage of 100 cft tons of all kinds materials like Cole brick i/c loading unloading 10 miles.	765-cft	1065.04	%Cft	8148/-
8.	Manufacturing and supply of R.C.C ring slab of 21" dia inside 36" dia outside, 7.5" width and 6" think i/c 3/8" dia for steel bars two concentric rings with 3/8" dia 8 nos cross linked bars welded and two sunk type hooks, casted in (1:1/2:3) cons with embedded 15Kg C.I Frame in perfect position i/c transportation charges for as average lead of 20KM per trip from casting yard to town office (A minimum of 25 slabs per trip will be transported.)	40-Nos	1906.60	Each	76264/-
9.	Manufacturing and supplying R.C.C main hole covers cast in situ 1:2:4 C.C. 3" inch deep in center reinforced with 3/8" dia M.S Bars welded on M.S. sheet i/c curing transportation . 21"dia 24"dia	50-Nos	913.63	Each	45682/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

A.E.E (B&R)

I/We hereby quoted rate@	% above/below the schedule of rates.	
	Contractor's Signature	
	Address	

OFFIC	E OF THE XEN	(B&R) D.M.C (WEST) BALDI	A ZONE.
ESTIMATE COST	6,35,043/-	TIME LIMIT	01 Month
TENDER COST	1500/-	SECURITY DEPOSIT	12,701/-
PANELTY PER DAY	1500/-	PROPERTY.	

SUBJECT:- P/L 12" Dia R.C.C Pipe line and C.C. Flooring at House No.5-A-13 to House No.5-A-21 in UC No.05, DMC (West) Baldia Zone.

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Excavation for pipe line in trenches, and pits in all kind of soil of Murum shape leveling of beds of trenches to correct level and grade, surplus earth within a one chain as directed by Engineers Incharge	5400-cft	4650.00	%cft	25110/-
02	Excavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leaving up to one chain.	450-cft	24150.00	%cft	10868/-
03	P/L reinforced cement concrete pipes with rubber rings i/c cartage, loading unloading at site of work fixing in trenches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate, M/S Balochistan R.C.C Pipe Co. M/S Pakistan construction (Pvt.) Ltd. M/S Kamal R.C.C Pipe Co. 12" dia pipe.	400Pft	367.00	P/rft	146800/-
04	Construction of 4" dia manhole inside complete with 21"dia c c 1:2:4 pre cast C.1 frame 12kg i/c the cost of M.S bars reinforcement and two handles 5" clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9" thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in all kind of soil back filling and disposal of surplus stuff (KW&SB) approved rate.	16-Nos	9307.86	Each	148926/-
05	Extra depth beyond 5" ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)8-ft	1609.15	Pft	(-)12873/-
06	Refilling excavation stuff & surplus earth etc complete.	5265-cft	2760.00	%Cft	14531/-
07	Dismantling cement concrete plain 1:4:8.	2325-cft	1663.75	%Cft	38682/-
08	P/L Cement concrete bricks or stone ballast 1 ½" to 2" gauge.	1535-cft	9416.28	%Sft	144540/-
09	P/L 2" thick topping cement concrete 1:2:4 i/c surface finishing and diving into panel etc complete.	4650-sft	3275.50	%Sft	152311/-
10	Carriage of 100 cft tons of all kinds materials like Cole brick i/c loading unloading 10 miles.	2910-cft	1065.04	%Cft	30993/-

11	Manufacturing and supply of R.C.C ring slab of 21" dia inside 36" dia outside, 7.5" width and 6" think i/c 3/8" dia for steel bars two concentric rings with 3/8" dia 8 nos cross linked bars welded and two sunk type hooks, casted in (1:1/2:3) cons with embedded 15Kg C.I Frame in perfect position i/c transportation charges for as average lead of 20KM per trip from casting yard to town office (A minimum of 25 slabs per trip will be transported.)	05-Nos	1906.60	Each	9533/-
12	Manufacturing and supplying R.C.C main hole covers cast in situ 1:2:4 C.C. 3" inch deep in center reinforced with 3/8" dia M.S Bars welded on M.S. sheet i/c curing transportation . 21"dia 24"dia	10-Nos	913.63	Each	9136/-

Nomenclature, quantities and rates
Etc checked and found correct.

A.E (B&R) # Falue.

I/We hereby quoted rate@	% above/below the schedule of rates.	
	Contractor's Signature	
	Address	

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,99,639/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,998/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- P/L 12" Dia R.C.C Pipe line and C.C. Flooring at Turk Muhallah, street No.1 & 4, in UC No.07, DMC (West) Baldia Zone.

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Excavation for pipe line in trenches, and pits in all kind of soil of Murum shape leveling of beds of trenches to correct level and grade, surplus earth within a one chain as directed by Engineers Incharge	2700-cft	4650.00	%cft	12555/-
02	Excavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leaving up to one chain.	300-cft	24150.00	%cft	7245/-
03	P/L reinforced cement concrete pipes with rubber rings i/c cartage, loading unloading at site of work fixing in trenches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate, M/S Balochistan R.C.C Pipe Co. M/S Pakistan construction (Pvt.) Ltd. M/S Kamal R.C.C Pipe Co.	200Pft	367.00	P/rft	73400/-
04	Construction of 4" dia manhole inside complete with 21"dia c c 1:2:4 pre cast C.1 frame 12kg i/c the cost of M.S bars reinforcement and two handles 5" clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9" thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in all kind of soil back filling and disposal of surplus stuff (KW&SB) approved rate.	08-Nos	9307.86	Each	74463/-
05	Extra depth beyond 5" ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)4-ft	1609.15	Pft	(-)6437/-
06	Refilling excavation stuff & surplus earth etc complete.	2700-cft	2760.00	%Cft	7452/-
07	Dismantling cement concrete plain 1:4:8.	6230-cft	1663.75	%Cft	103652/-
08	Cement concrete bricks or stone ballest 1 1/2" to 2" gage.	4112-cft	9416.28	%Cft	387197/-
09	P/L 2" thick topping cement concrete 1:2:4 i/c surface finishing and diving into panel etc complete.	12460- sft	3275.50	%Cft	408127/-
10	Carriage of 100 cft tons of all kinds materials like Cole brick i/c loading unloading 10 miles.	6530-cft	595.80	%Cft	69547/-
11	Providing C.I Manhole cover and frame i/c cost of 1kg material etc.	160- P-kg	140.00	P-Kg	22400/-
12	Manufacturing and supplying R.C.C main hole covers cast in situ 1:2:4 C.C. 3" inch deep in center reinforced with 3/8" dia M.S Bars welded on M.S. sheet i/c curing transportation.	18-Nos	913.63	Each	16445/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

A.E.E (B&R

I/We hereby quoted rate@	% above/below the schedule of rates.	
	Contractor's Signature	
	Address	

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 1,40,433/- O/R TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 2809/- O/R PANELTY PER DAY 1500/ SECURITY DEPOSIT 2809/- O/R

SUBJECT:- REPAIRING AND MAINTENANCE WORK AT TAJALLI NOOR PARK IN UC-04 DMC (WEST) BALDIA ZONE

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
1.	Exca. In foundation of building bridge and other structures i/c dagbelling dressing refilling around structure with excavated earth watering and ramming lead up to 5 ft.	1350	3176.25	%0cft	4288/-
2.	Supply & spreading sweet earth garden soil (sweet Earth) free from salt, pebbles and grass loats etc. approval qurrey required grade and slope and disposal of rubbis with 2 chains as directed by the Engineer etc. comp.	1238	2020.00	%cft	25008/-
3.	Supply stacking and spreading wall decayed cow duck mamure from app. Source i./c all lead and lift.	13	298.12	P/coat	3876/-
4.	Providing and supply bottle plain plants	50	O/R	Each	O/R
5.	Boiring for tube well in all water bearin soils from depth 100.1 to 200 ft or 30.51 meter below ground level i/c sticking and with drawing of casing pipe.	200	620.00	P/rft	124000/-
6.	Providing and Fixing summer pump 3 holes power with complete fitting & accessories.	01	O/R	Each	O/F
7.	Providing & Fixing naylon (Rubber Pipe)	1000	O/R	P/Rft	O/F
8.	Providing supply and fixing wooden benches	30	O/R	Each	O/F
9.	Providing and supply light pole.	08	O/R	Each	O/R
10.	Providing and fixing physical appliance / a. Marry go round b. Sea saw Jhooly c. Swing Jhoola d. Towel slide	01 01 01 01	O/R	Each	O/R
11.	Carriage of 100 cft 5 tons all materials like stone aggregate sprawl, coat, line surkhi etc. BG rail fastening points and crossing bridge guader pipes sheets rail M.S base etc. or 1000 Nos bricks, 10"x5"x3" or 1000 Nos tiles 13" x6"x2" on 150 cft of timber or 100 around of fuel woods by trucks on any other means owned by the construction qty. same as item no. 1	1350	595.80	%cft	8043/

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

A.E.E (B&R)

I/We hereby quoted rate@	% above/below the schedule of rates.	
	Contractor's Signature	
	Address	

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,72,884/- TIME LIMIT 01 Month TENDER COST 1500/- SECURITY DEPOSIT 19458/PANELTY PER DAY 1500/-

SUBJECT:- Improvement of Road at Sabil-e-Hussain Imambargah, Gulshan-e-Ghazi on occasion of Muharram-ul-Haram, 2014. (Re-Invite)

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Stone pitching for top layer only (1:3 to1:5) thick (b) in bed .	6750-cft	1996.00	%cft	134730/-
02	Filling, watering and ramming earth under floor with new earth (Excavated from outside) lead up to one chain lift up to 5 feet.	8750-cft	3630.00	%eft	31763/-
03	P/L aggtt base course material over prepared sub-grade in conformity with lines, graded, thickness and typical cross section as shown in drawing for new pavements., using well graded granular crushed stone with sand silt having smooth gradation curve within the limit for grading C or D as per AASHTO M-147-65 (1980) and compacting to 100% of the minimum dry density according to AASHTO 180method D using approved mechanical means of i/c watering with all lead and lift complete as per specification as directed by the Engineer Incharge.	5000-cft	5542.24	%cft	277112/-
04	Providing and laying to proper line and grade 1 ½" thick pre-mix carpet with pavers' machine. Prepared to specified formula according to job mix formula approved by Engineer Incharge i/c rolling and finishing to proper line, grade level and camber etc. (Rate all cost of material, T&P and carriage up to 3 chains).	10000- sft	6488.32	%eft	648832/-
05	Cartage of 100 cft. 5 tons all materials like stone aggregate sepals time surkhi BG rail fasting point crossing bridge guiders pipe sheet M/S Bars sheets 1000 trenches 10x5x3" 1000 tiles 12x6x2" 150 cft timber 100 mould fuel wood by trenches owned by the contractor within 15 miles etc. complete.	8750-cft	595.80	%cft	52133/-

Nomenclature, quantities and rates Etc checked and found correct.

I/We hereby quoted rate@

A.E (B&R)

% above/below the schedule of rates.

Contractor's Signature

Address

A.E.E (B&R)

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 8,32,972/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 16,659/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- P/L 2" thick C.C Flooring at Hussaini Masjid / Imambargah, Dawood Goth, in UC No-03, D.M.C (West). Baldia Zone, on occasion of Muharram-ul-Haram, 2014. (Re-Invite)

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Filling, watering and raming earth under floor with new earth (Excavated from outside) lead up to one chain lift up to 5 feet.	10,500- eft	3630,00	%cft	38115/-
02	P/L cement concrete brick or stone ballast 1 ½" to 2" gauge 1:4:8.	3960-cft	9416.28	%cft	372885/-
03	P/L 2" thick topping cement concrete 1:2:4 i/c surface finishing and dividing into panels etc. Complete.	12000- sft	3275.50	%cft	393060/-
04	Cartage of 100 cft. 5 tons all materials like stone aggregate sepais time surkhi BG rail fasting point crossing bridge guider pipe sheet M/S Bars sheets 1000 trenches 10x5x3" 1000 tiles 12x6x2" 150 cft timber 100 mould fuel wood by trenches owned by the contractor within 15 miles etc. complete.	10500- eft	595.80	%cft	62559/-
05	M.S O RCC ring slab of 21" dia inside 36" dia out side 75" width and 6" thick i/c dia tor steel bars two concrete ring with 3/8" dia 8 No. cross liked bars welded and two sunk type hooks cost in a 1:1 ½":3 concrete with embedded 15 Kg C.I from in prefund position i/c transportation cage.etc.	20-Nos	1906.60	Each	38132/-
06	M.S RCC manhole cover cost 1:2:4 concrete ratio 3" depth at i/c reinforced with 3/8" dia tor steel bars 4" CC Weided to 1/8" thick 2.5" depth M.S. Plat i/c curing staking and transportation within 10 miles.	70-Nos	913.63	Each	63954/-
07	Shifting of site and fixing of 36" dia ring slab in perfect position on damaged manholes in proper shape and laying of cement mortar of 2" thickness and disposal of debris.	20-Nos	563.09	Each	11262/-

Nomenclature, quantities and rates
Etc checked and found correct.

I/We hereby quoted rate@

A.E (B&R)

% above/below the schedule of rates.

Contractor's Signature_

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,71,457/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,429/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- IMPRO. OF ROAD AT SHARAH ALI ROAD IN DMC (WEST) BALDIA ZONE.

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Earth work excavation in ashes, sand soft soil or silt clearance undressed lead up to. 50ft.	6851/- cft	1663.75	%0cft	11398/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor, Grader, Vibratory roller and smooth wheel roller etc) Watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/c all cost of material T&P and carriage up to.	6851/- cft	5542.24	%cft	379699/-
03	Providing 1 ½" thick (Consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft, Bajri 5 Cft Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8II sand 3 cft For mixing and 2.0 cft For dusting) Rate i/c all cost of materials T&P and carriage up to 3 channels.	9135/- Sft	6488.32	%sft	592708/-
04	Carriage of 100 cft tons of all kinds material like cole bricks i/c loading unloading 10 miles.	6509/- cft	595.80	%cft	38781/-

Nomenclature, o	quantities and rates
Etc checked and	

A.E (B&R)

I/We hereby quoted rate@

__% above/below the schedule of rates.

Contractor's Signature_

Address

A.E.E (B&B)

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,73,392/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,468/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT:- IMP. OF ROAD AT THE SCIENCE COLLEGIATE IN SAEEDABAD , DMC (WEST) BALDIA ZONE

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Earth work excavation in ashes, sand soft soil or silt clearance undressed lead upto, 50ft.	6851/- eft	1663.75	%0cft	11398/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor, Grader, Vibratory roller and smooth wheel roller etc) Watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/c all cost of material T&P and carriage up to.	6851/- cft	5542.24	%cft	379699/-
03	Providing 1 %" thick (Consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft, Bajri 5 Cft Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8ll sand 3 cft For mixing and 2.0 cft For dusting) Rate i/c all cost of materials T&P and carriage up to 3 channels.	9135/- Sft	6488.32	%sft	592708/-
04	Carriage of 100 cft tons of all kinds material like cole bricks i/c loading unloading 10 miles.	6851/- cft	595.80	%cft	40818/-

Nomenclature, quantities and rates
Etc checked and found correct.

I/We hereby quoted rate@

A.E (B&R)

% above/below th	e schedule of rates.
------------------	----------------------

Contractor's Signature_

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,86,889/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,738/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT: - MAINT, OF ROAD FROM SHAHRAH-E-WAQAS TO SCEIENCE COLLEGIATE DMC(WEST) BALDIA ZONE

S.NO.	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Earth work excavation in ashes, sand soft soil or silt clearance undressed lead up to. 50ft.	6960/- cft	1663.75	%0eft	11580/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor, Grader, Vibratory roller and smooth wheel roller etc) Watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/c all cost of material T&P and carriage up to.	6960/- cft	5542.24	%cft	385740/-
03	Providing 1 ½" thick (Consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft, Bajri 5 Cft Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8ll sand 3 cft For mixing and 2.0 cft For dusting) Rate i/c all cost of materials T&P and carriage up to 3 channels.	9280/- Sft	6488.32	%sft	602116/-
04	Carriage of 100 cft tons of all kinds material like cole bricks i/c loading unloading 10 miles.	6612/- cft	595.80	%cft	39394/-

Nomenclature, quantities and rates
Etc checked and found correct.

A.E (B&R)

I/We hereby quoted rate@______% above/below the schedule of rates.

Contractor's Signature_

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE. ESTIMATE COST 9,68,057/ TIME LIMIT 01 Month TENDER COST 1500/ SECURITY DEPOSIT 19,361/ PANELTY PER DAY 1500/ 1500/ 1500/

SUBJECT: - IMP. OF 5J ROAD TO AWAMI FOOD SWEETS, SAEEDABAD IN DMC (WEST)BALDIA ZONE

S.NO.	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Earth work excavation in ashes, sand soft soil or silt clearance undressed lead up to 50ft.	6824/- cft	1663.75	%0cft	11353/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor, Grader, Vibratory roller and smooth wheel roller etc) Watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/c all cost of material T&P and carriage up to.	6824/- cft	5542.24	%cft	378202/-
03	Providing 1 ½" thick (Consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft, Bajri 5 Cft Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8ll sand 3 cft For mixing and 2.0 cft For dusting) Rate i/c all cost of materials T&P and carriage up to 3 channels.	9106/- Sft	6488.32	%sft	590826/-
04	Carriage of 100 cft tons of all kinds material like cole bricks i/c loading unloading 10 miles.	6483/- cft	595.80	%cft	38626/-

Nomenclature, quantities and	rates
Etc checked and found correct	

A.E (B&R)

I/We hereby	quoted rate@_	% above/below the schedule of rates.

Contractor's Signature____

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE.				
ESTIMATE COST	9,58,259/-	TIME LIMIT	01 Month	
TENDER COST	1500/-	SECURITY DEPOSIT	19,165/-	
PANELTY PER DAY	1500/-			

SUBJECT: - P/F KERB STONE AND LINE MARKING AT 5J ROAD SAEEDABAD IN UC 5 DMC (WEST) BALDIA ZONE

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	P/F precast edge block (kerb stone) 3750 PSI industrial mad size 6" thick x12 inches long x11/12 ft high i/c the cost of cartage excavation form work for hunching 1450 PSI lean concrete 2250 PSI concrete for hunching 1:4 cement sand mortar.	2600-rft	297.01	P/rft	772226/-
02	Preparing the surface and paint with plastic exclusive paint of all make i/c rubbing the surface with sand peper filling the voids with cholk / plaster.	2600/- sft	1659.35	%sft	43143/-
03	Dis: cement block masonry	5638/- cft	1134.38	%cft	63956/-
04	Carriage of 100 cft tons of all kinds material like cole bricks i/c loading unloading 10 miles.	5638/- eft	595.80	%cft	33591/-
05	Thermo plastic paint pave malt marking reflective thermo plastic paint for lines of 6 in width./	5200/- rft	41.24	P/rft	214448/-

Nomenclature,	quantities and rates
Etc checked an	d found correct.

A.E (B&R)

I/We hereby quoted rate@_______% above/below the schedule of rates.

Contractor's Signature_

OFFICE OF THE XEN (B&R) D.M.C (WEST) BALDIA ZONE.				
ESTIMATE COST	9,22,467/-	TIME LIMIT	01 Month	
TENDER COST	1500/-	SECURITY DEPOSIT	18449/-	
PANELTY PER DAY	1500/-		101227	

SUBJECT:- REPAIR AND MAINTENANCE WORK AT NURSERY IN UC5 DMC (WEST) BALDIA ZONE

.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
I.	Dis. Cement concrete plain (1:3:6) block masonary	578	1306.80	%cft	7553/
2.	Dis. 2 nd class tile roofing.	182	378.13	%cft	688/
3.	Dis. Cement concrete plain (1:2:4)	182	3327.50	%cft	6056/
4.	Exca. In foundation of building bridge and other structures i/c dagbelling dressing refilling around structure with excavated earth watering and ramming lead up to 5 ft.	1130	3176.25	%0cft	3589/
5.	P/L cement concrete bricks or stone ballast 1 ½" to 2" guage ratio (1:4:8)	494	9416.28	%cft	46516/
6.	Fabrication of mild steel reinforcement for cement concrete i/c in position making joints and fastening i/c cost of binding wire (also i/c)	22.81	4820.20	P/cwt	109948/
7.	Erection or removal centering for RCC on cement concrete plain works of deodar wood (2 nd class)	1880	3127.41	%sft	58795/
8.	RCC work in roof slab beam, columns rofts, lintels and other structure member laid in situ on precast laid in position complete in all respect ratio (1:2:4) 90lbs cement 2cft sand 4 cft shingle 1/8" to 1/4" guage	806	337.00	P/cft	271622/
9.	Filling watering and roaming earth (excavated from outside) lead up to one chain and lift up to 5 feet.	1350	3630.00	%0cft	4900/
10.	P/L 2" thick topping cement concrete (1:2:4) i/c surface finishing and dividing in to panels	572	3275.50	%sft	18735/
11.	P/L (1:3:6) cement concrete solid block mosanary wall above 6" in thickness set in 1"6 cement mortar in G.F ground floor super structure i/c making out joints i/c curing etc.	1133	14621.44	%cft	165660/
12.	Providing and supply precast slab with RCC guarder	208	O/R	P/sft	O/F
13.	Cement plaster 1:2 up to 12' height 1/2" thick	5861	2496.72	%sft	146332/
14.	Dist. Three coast	6057	1079.65	%sft	65394/
15.	Painting doors and windows any type each subsequent coat.	352	1160.06	%sft	4083/
16.	First class deodar wood wrought joining in doors and windows etc. fixed in position i/c chowkats hold fasts hinges iron tower bolts, chocks cleats handles and cords with hooks, etc 1 3" thick	128	1273.76	P/sft	163041/-
17.	Providing & supply W.C	02	O/R	Each	O/F
18.	Providing & supply wash basic complete set	02	O/R	Each	O/R
19.	Providing and laying PVC pipes at class B.C and D and Fixing in trenches i/c cutting fitting and jointing with max phalt composition and testing with water to a head of 61 meter to 122 meter or 200 ft to 400 ft.	60	O/R	P/rft	O/R
20.	Providing & supply elbo.	06	O/R	Each	O/R
21.	Providing & supply tee.	06	O/R	Eah	O/R
_ 22.	Providing & supply socket	06	O/R	Each	O/R
23.	Providing & supply tap	06	O/R	Each	O/R

24.	Providing and supply fiber water tank	01	O/R	Each	O/R
25.	Carriage of 100 cft 5 tons all materials like stone aggregate sprawl, coat, line surkhi etc. BG rail fastening points and crossing bridge guader pipes sheets rail M.S base etc. or 1000 Nos bricks, 10"x5"x3" or 1000 Nos tiles 13" x6"x2" on 150 cft of timber or 100 around of fuel woods by trucks on any other means owned by the construction qty, same as item no. Ito 4	2072	595.80	%cft	12344/-

Nomenclature, quantities and rates
Etc checked and found correct.

M. Fahuil

A.E (B&R)

I/We hereby quoted rate@	% above/below the schedule of rates.	
	Contractor's Signature	
	Address	